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3. [25 pts fotal] A rubber eraser is placed up against the wall of a rotating cylinder of radius
10 cm as shown in the diagram. The eraser has mass 0.021 kg and the coefficient of static
friction between the eraser and the cylinder is 0.80 and the coefficient of kinetic friction
between the eraser and the cylinder is 0.40.

b. [8pts] What is the minimum constant angular velocity (in rpm) that the cylinder must
maintain so that the eraser does not slip?
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d. [6pts] Again in this situation, what is the acceleration (magnitude and direction) of the
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